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1.

FIRST PART

CHILD DEVELOPM ENT AND

PEDAGOGY

Team teaching has the potential to
develop (choose most appropriate
option) :

(A) Competitive spirit
(B)  Co-operation

(C) The habit of supplementing the
teaching of each-other

(D) Highlighting the gaps in each-
others teaching

Students can {reely interact in the class if
there is :

(A) Proper physical facilities
(B)  Strict discipline

(©)  Democratic Atmosphere
(D) None of the above

The process of arousing, sustaining and
regulating activity is known as

(A) Learning
(B) Motivation
(©) Habit

(D) Maturation

TIY U
T forehma wa fora vy

aaﬁrmﬁﬁzﬁmaa;ﬁﬁww%(mﬁa;
SR fawer # gy ) |

(A)  wfrarst = gy
(B) Hem

(©) TH-TR * e 1 vy e 3
HAled

(D) TH-gm@ & foreror it wfireii o fomaifiry
HET

WW-WﬁWW:mﬁ
7fz :

(A) @ sifo gfaamd
(B) 1 sreme &

(©)  FSIif sy 8
(D) 39 $E off 7

H F 3y S W sk ffiyg
Wﬁﬁﬁmm’fgq_________ﬁﬁl

(A)  sifms
(B) sriygTon
(©) smem

(D) gRgggar
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Internal class-room factor that affect
leaming :

(A) Interest
(B) Motivation
(C) Mental fatigue

(D) Above all

In which form the Creativity is Expressed
during childhood ?

(A) Dramatic play
(B) Constructive play
(C) Humour

(D) All the above

According to the Two factors theory of
intelligence, specific ability or ‘s’ factor of
human being is :

(A) By birth embedded

(B) can be acquired

(C) Found equally in every intelligent
person

(D) None of the above

HiANEF Fa-Fa FRF S 1 =5 g
W%:

(A) ®f9

(B) afusom
(C) wFfa® gam
(D) 3l w4t

AT H oSl ® sfeafa fEg
&9 F fan s g & 2

(A) FRHE Bd g
(B) TEIHE @ FNI
(C) % 9= g

(D) Syl gt

s ¥ feaer frgia % srgom =ifm =t afg
=1 fafire a s1uan ‘s 7 -

(A) ST BT R |

(B) 3fSia foman = wava 21

(©) it Sfgwm =t § gom w9 2 g
oS

(D) ¥4 4 #7 7&f
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o eancher the case, of | | . = F ey = L TS NI .
Backwardness in children, THar g
(A)  Defective eye sight (A) gfe 3
(B) Poverty (B) Faefar
(C) Defective curriculum (©) BNyl gy
(D) All the above (D) 39 wuft
Before teaching a lesson, 4 teacher tries 8. 1% firerp up G & Tee 9= @ g REETS
to create interest and curiosity in children STH ¥ 3R forsmar e FA LI 7% frg
by asking questions, Which law is applied a8 =1 swi ey ™ ?
here ?
(A) Law of Effect (A) 9919 =7 fay
(B) Law of Exercise (B) 31419 %7 fiymm
(C) Law of Readiness (©) 9T %1 figyg
(D) Law of Analogy (D) =\ %7 foyg
Picture completion test ang Koh’s block 9, Fet-ofer ey o5 PIE =T FeweT ey
design test is conducted to know SeTF & HI S % o 3w
e _ of child. fomam s &
(A) Interest (A) wfg
(B) Aptitude (B)  stfysmyey
(©) Intelligence © dfg
(D) Attitude (D) anfugfy
SPACE FOR ROUGH WORK / 7% &1 & fory e
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10.

The ability to see new relationship to
produce unusual ideas and deviate from
traditional patterns of thinking is known

10.

%mmmmwﬁmmﬁm%
TH 3t # fae F s wimEr 3
TR SRy T e B9 @ )

as: Rl S E
(A) Learning (A) i
(B) Creativity (B) HSHTHEH
(C) Thinking (C) fdaq
(D) Reasoning (D) @&
11. Nature and Nurture refer to : 11. Y& w& 9o Gohg F33 § -
(A) Internal and External environment (A) 7t ud =er amarE
(B) Temperament and character (B) w@YE ud afiy
(C) Physical features and temperament (C) HIel w1879 Ud =Y
(D) Heredity and Environment (D) =vIshy Ud FrEE
12.  Developing new rules and principles on 12, Hfd ¥R W yrq g s gEAR % SR
the basis of given facts and information R 7917 From wo fagri # o s
in memory level is called : FHEA B
(A) Generalization (A) AT
(B)  Assimilation (B) SITHEIEHI
(C) Application (C)  sryErT
(D) Association (D) =
13.  Achild cannot distinguish between ‘saw’  13. T T=7 ‘saw’ T4 ‘was’ 9T ‘nuclear’ TS
and ‘was’, ‘nuclear’ and ‘unclear’. “unclear’ ﬂﬁ‘ﬂ?’lﬁf FLUM | FF= g
He/she is suffering from : Yifga @ :
(A) Dyslexia (A) fewafemm
(B) Word jumping disorder (B)  ¥I=g 38w & famr
(C) Dyslexemia (C) feramifian
(D) Dysmorphemia (D) fewithfiya
SPACE FOR ROUGH WORK / T% &4 & fordl wg
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14.

15,

16.

If a student wants to satisly some querry
in question paper, then

(A)  You will clari fy the printing mistake

(B)  You will inform the concerned
subject teacher

(€)  You will advise him to wait till the
correction is being confirmed

(D) Furiously tell him to do as he
understands

In order (o modify the undesirable
behaviour of a student the most effective
method js :

(A) To punish the student

B)  To brin it to the notice of the
g
parents

(© To find out the reasons for

undesirable behaviour and provide
remedies

(D)  To ignore it

Which statement related to Project-
Method is true ?

(A) Learning by experience
(B) Teacher as g facilitator
(&) Problem—solving

(D) All the above

14.

15,

16.

ﬂﬁ'ﬂﬁéﬁmﬁmw%%@ﬁ T F Hay
ﬁmmm%‘,m:

(A) ST q271 3 =t e 3y
(B) muﬁfwﬁw%mﬁqﬁaaﬁ:

(C) meﬁwwuﬁwmﬁm
éﬁmwgﬁrgmﬁu’fﬁmam:

(D) msﬁma%ﬁ%a@@}mwﬁm
® 9 3y

(©) aaffwmm%wvﬁwummm

(D) =/ 7 31 /3%a 7y

mﬁrﬂﬁﬂ'ﬁﬁmﬁqmw@%?

(A) YT gr7 Hhgar

(B) Rrerk v ghremer % =y o
(©) wTen-Tmme

(D)  39dis gyt
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17.  Which of the following is the most 17,

important characteristic of open book
examination system ?

(A)

(B)

(©)

(D)

18.  Which of the following is most essential 18.

It helps students become serious

It helps to improve attendance in
the classroom

It reduces examination anxiety
among, students

It compels students to think

for learning ?

=i 4 & geft g wien yomet &
Haifer oo ee ¥ :

=g foenfifai =t vvl 89 & wee wa
gl

(B) ¥% Fen ¥ Suftufd 1 gura § weg
FLATE

Tz faanfil & witen & ufa ghe=a =
T H

7% faenfof=i =t 9r=a & fore aren s
2l

(A)

(©

(D)

Afemy & feu frefafes o 2 gaifus
IS §

(A) Good parent-child relationship (A) U9 TeTsh-STcTs Fay
(B) High intelligence (B) 3= dfgman
(C) Good school environment (C) 3uH faarem Fmmm
(D) Desire to learn (D) e =t g=1
19.  If a child enjoys reading a book then it 19, af2 fFaE 9B+ W frdt e ) ggem At
is : T
(A) Extrinsic Motivation (A) <& eI )
(B) Intrinsic Motivation (B) sl sifirdwon ¥
(C) For receiving appreciation (C) wviEn wifig & fag 81
(D) None of the above (D) 3w @i oft &
SPACE FOR ROUGH WORK / T% &g & ol smg
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20. A teacher collects and reads the work in 20. WWWW a‘?ﬁ'ﬂﬁ\?faﬁ * F7Y Ea
class VII, then plans and adjusts the next THOH R, 92Y ¥ wunig 19 SFTR UTE Wy
lesson to meet the students needs. He g ferenfofaff =} ATTTIHA & HIEY HHmEfSe
doing : AT TEFE L,

(A) Assessment of learning (A) SR &5 e
(B)  Assessment as learning (B)  =form F S amrer
(C)  Assessment for learning (©) eifrm & fe1g amepem
(D)  Assessment at learning (D) 31 W arepery

21. When a teacher gathers information of 7. 9 e, w5y % e #1 T sifim afn
behaviour of children by becoming I ITh R STHER Sy 8, Te
Important part of thejr group, then it is FT IR T
an example of ;

(A) Informal observation (A)  err=nfig ftaqo
(B)  Non-Participant observation (B)  STHRWITT firtteyor
(C)  Formal observation (C) sl fifta
(D) Participant observation (D)  weurft fade

22 is any child whose conduct 22, #IE st wer, ST =raem gy e
deviates sufficiently from normal social wﬁmf‘ws’rm‘qﬁaﬁmﬂmﬁ
usage that it may be labelled anti-social, FEl S T, e
(A) Mentally Retarded Child (A) 1< 9fg e
(B)  Juvenile delinquent (B)  areT-argarst
(©)  Backward child (©) fuzer e
(D) None of the above (D) ¥9 ¥ = 7

23.  Which is not a type of Cerebral Palsy ? 23. TH & 3 q TATETSETT Yamem 57 9FR

T2
(A) Spasticity (A) AfEsh-grgry
(B)  Muscular dystrophy (B) AT S
(C) Athetosis (C) ufeEifagy
(D) Ataxia (D) v
SPACE FOR ROUGH WORK / 1% w7d & fordt g =
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24,

25.

26.

Which is not a process related factor of
teaching-learning ?

(A) Linking of new knowledge with the
past

(B)  Provision of revision and practice
work

(C) Nature of content

(D) Provision of Reinforcement

“To
unconditioned stimulus like response

learn to respond towards

towards conditioned stimulus is

Learning.” This statement is based upon
which theory of Learning ?

(A) Trial and Error theory

(B) Classical conditioned response
theory

(C) Operant conditioned response
theory

(D)  Field theory of learning

Retrieving hidden objects is an evidence
that infants have begun to master which
of the following cognitive function ?

(A) Intentional behaviour
(B)  Object-permanence
(C) Problem-solving

(D) Experimentation

24,

25.

26.

1 b1 FRF er1- sifermy gfgen § wefig
T2

(A) o 9 i g8 F9 4 e
(B) 1% HE AT SeU FT e

(C) Tormm axg =1 wofa
(D) YASEH T TrET

" sranuifae 3OSt % wf mfas s
& GO SRR e die 8 sty £
78 e fFa sifarm fagia o smenfig &2

(A) vAY ©& 3fe w1 fagia
(B) UG STIEG STfhAl # fagia

(C) wfsha s srfsn = fagm

(D) & rm 1 83 fagia

Tt g8 o e e oa o %1 oFa &
T feory Frafofea & 9 frg dammers w19
H ST WIS A TR 2

(A) w9 =TEeR
(B) =% T
(C) Hg=-"gHEHE
(D) WA AT
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27,

28.

29;

30.

“Whatever the reasons of differences
among children, but the fact is that the
schools must face them through different
curricula.” Who said this ?

(A) Skinner
(B) Morse and Bingo
(C©) Crow and Crow

(D)  Garrison and others

Learning means

(A)  Acquisition of habits

(B)  Acquisition of knowledge
(C)  Acquisition of attitudes
(D)  Above all

Fluency, Elaboration, Originality and
Flexibility etc., are the factors associated
with ;

Giftedness
Talent
Divergent thinking

Acceleration

Which of the following indicates
evaluation ?

(A) Ram got 45 marks out of 200

(B)  Mohan 8ot 38 percent marks in
English

(C) Shyam got first division in final
exams

(D) Al the above

27. “mﬂﬁﬁﬁﬁzﬁmﬁ%mﬁﬁ off o

28.

30.

aﬁﬁm%%%ﬁﬂ]ﬁqﬁﬁfww
%mwmmaﬁqi"uﬁvﬁw
%.

(A) far
(B) i ug famy
© Fuwam
(D) iHa uF s

Fﬁ@%%‘fa'{?f:

(A) Tl %7 ooy &
(B) 9 w7 aysiy 3

(C) iy =1 spsfq
(D) 39e Tut

ﬁwfﬁmﬁﬁwmaﬁua&hm%:

(A) m%zoaﬁ@r‘@saﬁmwm

(B) n’taqfraﬁhﬁﬁ?,snﬁmsimm
fera

Q) mﬁaﬁwﬁwﬁwmﬁvﬁmaﬁ

(D) 39 Tt
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fgdia wrt 34, ‘o e SR s Y - e e
=TT E?
et bk
(A) feETaeE 9
31. fom o ¥ fam o 3o war o €, S8 g (B) = Haf
T AT Ioal hl Fed © - (C) e T
(A) fadzg (D) 379 | FE &
(B) gy
(C) ¥ 35. ‘O A aXal @ °F gE S TR e ®
(D) uefa=md (A) Taftaras
(B) Hgara®
32. @R AR faur =i % enfe # g 2 (C) SETES
€ (D) GhasTHes
(A) FH T 2
(B) o TIeTd ¥ 36. ‘ond form’ w1 fag 7 37
(©) og=ER ¥ fou wd € fawt & o A) ;
TeTd €1
B
(D) fawi & fau @@ €, sge@m & fou
e B | (&)
(D)
33, ‘‘Siwom g won’ - g H S e
E N 37. Trefafaa & Sifem o &1 =57 #ifw
(A) YeuaTEs g fAeaErEs geam (A) F
(B) fr=garas wd sifveaaras w6am (B) e
(C) Heyare® Ud Fvegaras gaam (C) T
(D) =7 ¥ &g &l (D) @«
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38.

39,

41.

frerfafay
Fifo -

(A) s

(B) e
©) T
(D) w@R

ﬁ‘aimvhgaﬁmmw

rﬂm%%ﬁawaﬂm?? et fasey

T\{ﬁz},

(A) 19, seiwr,
(B) wrand, =aren, R
(C) 19, wrane, sy
(D) =, Ha, avf

42,

43.

44,

45,

%ﬁﬁmwmﬁwﬁw@aﬁé
e SR gy )

(A) ifa SRy
(B) 379y sameprYy
(C) ¥%ha s
(D) 39ds

ﬂiaﬁwaﬂmaﬂzaﬁaﬂt%ﬁéﬁq
aﬁ%mvwwﬁ%ﬁmaﬁwm
g2
(A) tEEEy
(B) ews
(C) =iy

(D) 379 9 #i¢ 7

%ﬁﬁwmﬁaﬁmmﬁam
T 2
(A) Tegpa
(B) afish
(©)
(D) =it

mﬁmﬁ%\’rﬁﬁﬁﬂm
W‘gﬁ'mwmﬁwﬁm%?

(A) i

(B) 7=

© e

(D) Feefa

9210/

TE-SET/FLG-E
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46.

47.

48.

49,

50.

Tr=ifea & fvg weam =1 w3 fagmm % 51,

e off 2T &2

(A) gEYETEE Gam
(B) frstars wdam
(C) Frv=gar=s Fdam
(D) 3w i =1

‘AT A H FE FE AL oA’ FEEd

HAY T : 52.

(A) Heeh! Tt FB =31 o B

(B) T =T it <fiS 2r=t St B

(C) |E ST I9iEn A1 e 21

(D) ot we s off felt 1 o T2
A |

Frafafed d fgwds fraeds o =1 =99
ifT :

(A) 9 2 formam faat femen @ @1

(B) T AR WA SHI SMEvTF T |

(©) o9 ¥ we Wi ¥ 53.

(D) forg omm F W &1

"I Hen N gerat o wer o §
(A) et femm

(B) YT 1 THepTer

(C) e T

(D) el T

IR YA F AR, v F semw & Ok

&1 w9 ¥ fohed 92 €72
(A) =
(B) &

(€) =
(D) =W

&

FIS TH, T TS B FeEd w1 A9
g

(A) HE ot =S =S qE Sia w= e
e |

(B) i 9 H HISE 8 39 & o =g |

(C) UH =ga9H 9 99 ¥ fig 29 &)

(D) THU &1 YR & Ted TE H GUR
Eadl

“forrht aiTe w2l w81’ - e % fan T
IR I T E?

‘g form e Ty 1 SeeT #2
(A) < = by
(B) 9T =R Hfy
(C) Ffe @ =@fy
(D) = =R Gfy
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56.

ﬁﬁmmﬁaﬁ
THF 9% 38 v
saferT =ity

(A) = = fored o 7

(B) aﬁﬂt?ﬂﬂﬁgﬁz—tﬁﬁ:maﬁ:
(©) % Hmgars sery o oy

(D) :ﬂ?rwmaﬂmiﬁam:

TE HE S =y
TR =

57

58.

59.

60.

@ﬁw%mﬁf%ﬁmﬁwﬁm?
(A) T S Bt sy
(B) M1 T RTe=1¥] H7sg 2y |
© T %1 39 v Sy

(D) 39g& gt

Few<it s =51 o7 o 8

(A) T8 o % 39en @0
(B) T w3 v w5 syqay
(©) ST e wifi gy
(D) 39w F #)d o

ST 7 ayof & .

(A) ﬁﬁﬁ?%@aa%mf‘c-r@ml
(B) ﬁwf’rfa@az%qaﬁfa@m
(C) %ﬂ?%@azamwﬁa@m
(D) 37 woft

92]
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10/ TE-SET/ELG-E

15

Set - A



THIRD PART
ENGLISH

Read the following passage and answer the
question number 61 to 70 based on il. (choose
the most appropriate answers)

When another old cave is discovered in
the South France, it is not usually news. Rather,
it is an ordinary event. Such discoveries are so

frequent these days that hardly anybody
pays heedto them. However, when the

Lascaux cave complex was discovered in 1940,
the world was amazed. Painted directly on its
walls were hundreds of scenes showing how
people lived thousands of years ago. The scenes

show people hunting animals , such as bison or

wild cats. Other images depict birds and, most

noticeably, horses, which appear in more than
300 wall images, by far outnumbering all other
animals. Farly artists drawing these animals
accomplished a monumental difficult task.
They did not limit themselves to the easily
accessible walls but carried their painting
materials to spaces that required climbing steep
walls or crawling into narrow passages in the
Lascaux complex. Unfortunately, the paintings
have been exposed to the destructive action of
water and temperature changes, which easily
wear the images away. Because the Lascaux
caves have many entrances, air movement has
also damaged the images inside. Although they
are not out in the open air, where natural light
would have destroyed them long ago, many of

the images have deteriorated and are barely
recognizable. To prevent further damage, the
site was closed to tourists in 1963, 23 years after
it was discovered.

61. The underlined word ‘depict” is closest

in meaning to

(A) show
(B) hunt
(C) count
(D) draw

62. The underlined word ‘ However’ is used
in the sentence as :

(A) adjective
(B) preposition
(C) adverb

(D) exclamation

63. According to the passage, all of the
following caused damage to the paintings
except

(A) temperature changes
(B) air movement
(C) water

(D) light

SPACE FOR ROUGH WORK / T% @14 & ford srme

Set- A
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64.

65,

b6.

In  the underlined expression

“hunting - animals the word ‘hunting’ is
usedas:

(A)
(B)
©

Verb in continuous form
Noun
Adjective

(D) Juncture

The underlined words ‘ E&gzg&_l'_legg_ to’ are

closest in meaning to

(A) discovers
(B)  watches
(C) notices
(D) buys

What does the passage say happened at
the Lascaux caves in 1963 ?

(A) Visitors were prohibited from
entering.

(B) A new lighting system was
installed.

(C)  Another part was discovered,

(D) A new entrance was created.

67.

68.

69.

70.

930719

Based on the passage, what is probably
true about the South of France ?

(A) Itis home to rare animals

(B) Tthasa large number of caves

() Itis known for horse-racing events

(D) Ithas attracted many famous artists

According to the passage, which animals
appear most often on the cave walls ?

(A) Birds

(B) Bison

(C) Horses
(D) Wild-Cats

The underlined word '111_81 refers to

(A)  walls

(B) artists
(C) animals
(D) materials

Why was Painting inside the Lascaux
complex a difficult task ?

(A) Tt was completely dark inside,

(B)  The caves were full of wild animals,
(C) Painting materials were hard to find,
(D) Many painting spaces were difficult

to reach,

SPACE FORROUGH WORK | 1% w713 & forr s
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Read the following poem and answer the  71.

question number 71 to 75 based on it. (choose
.the most appropriate answers)

Woodman, that tree !
Touch not a single bough
In youth, it sheltered me ,

And I'll protect it now.

It was my forefather’s land 72.

That placed it near his cot ;
There, woodman, let it stand,
Thy axe shall harm it not !
When but an idle boy

1 sought its grateful shade ;
In all their gushing joy

Here, too, my sisters played.

My mother kissed me here, 73.

My father pressed my hand'
Forgive this foolish tear,

But let that oak stand !

My heartstrings round thee cling
Close as thy bark, old friend !
Here shall the wild birds sing,
And still, thy branches bend.
Old ﬁeé ! The storm still brairel !

74.

And woodman leave the spot ;
While I have a land to save,

Thy axe shall harm it not..

The expression ‘gushing joy’ is closest in
meaning to

(A) laugh loudly
(B) shout loudly
(C) scream loudly

(D) try to be happy

The poet wants the woodman to spare
the tree because :

(A) ityields valuable fruit

(B) the poet’s father told him strictly,
not to touch the tree

(C) the tree has been the poet’s
companion

(D) he doesn’t want that

The poet’s father pressed his hand as a

gestureof
(A) affection

(B) kindness

(C) anger

(D) negligence

‘The word ‘bough’ is closest in meaning

to
(A) branch
(B) tree

(C) huge tree
(D) garden

SPACE FOR ROUGH WORK / T% &Td & ford wrme
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75

76.

78|

The poet will guard the tree with his 79,
(A) eye
(B) hand
(C) heart
(D) negligence
When we want to test speaking skills, we %
test the ability of the students -
(A)  to use proper punctuation marks
(B) to narrate mncidents or events
(€)  to make conclusions from the given
extract
(D)  to understand the main thought o1
When we learn a language, we learn it :
(A) by note memorization.
(B) by mugging up.,
(C) by learning the rules.
(D) through meaningful practice.
If a child says ‘goed’ instead of ‘went’, it 82.

15 ;

(A) a blunder

(B)  a serious mistake

(C) aslip of tongue

(D) a developmental error

To narrate a story with proper stress and
intonation is a subskill of :

(A)  Listening skill
(B)  Speaking skill
(C)  Reading skill
(D)  Writing skill

Which of the skills are covered when you
Summarize a paragraph ?

(A) Listening and reading skill.

(B) Reading and writing skill,

(©) Speaking and writing skill.

(D) Only reading skill.

In which of the following methods or
approaches, the first language is
maintained as the reference system in the
acquisition of the second language ?

(A)

(B)
©
(D)

Grammar-Translation Method
Direct Method
Structural Approach

Communicative Approach

If a Person draws conclusions after
listening to a story , it is termed as

(A)
(B)
©)
(D)

listening for facts

listening for specific information
listening for general understanding
inferential listening

9210/ TE-SET/ELG-E
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83. When the teacher asks the students to 87. Before starting remedial teaching, the
repeat some words or sentences several teacher should :
times, it is called : (A) find out students’ areas of
(A) recalling weaknesses
(B) acquiring (B) prepare lesson plan
(C) inferring meaning () prepare charts
(D) drilling (D) prepare suitable teaching-learning
’ material
84. Which language function is being used 88. Skimming is :
when someone says, “You did a good (A) quickly running one's eyes over a
job" ? text to get the gist of it.
(A) Apologizing (B)  quickly going through a text to find
(B) Appreciating a particular piece of information.
(C) Enquiring (C) reading longer texts for one’s own
(D) Greeting someone pleasure.
(D) reading shorter texts to extract
> . . specific information.
85. Authentic material can be used in the
e 89. A good evaluation system :
(A) to expose students to real language (A) is stressful
(B) to make the language learning (B) s full of anxiety
experience more meaningful (C) tells the students who have passed
(€) to make language learning and who have failed
enjoyable (D) provides feedback to students and
(D) all of the above improves teaching-learning process
86. Students who make mistakes in spellings, 90. Grammar teaching is more meaningful
especially omit letters in words seem to when.;
have: (A) grammar is taught in context
B 1 e ined
(A) Locomotor disabiiity (B) rules alleti explaine before
communication
(B Visual impairment , (C) grammar is taught deductively
(C) Speech impairment (D) grammar is taught first and
(D) Learning disability language is taught later
SPACE FOR ROUGH WORK / T% & & e wme
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97,

92.

93.

FOURTH PART
(A) MATHEMATICS AND
SCIENCE

For X-rays and white sunlight :
(A)
(B)
(©)

frequency of both are same.
speed of both are same,

both are used to determine crystal
structure,
(D) one is mechanical wave whereas

other is electroma gnetic wave.

When a wheel is rolling on a level road,
the direction of frictional force between
the wheel and road is in ;

(A) backward direction
(B)
(C) depend on speed
(D)

forward direction

cannot say

The numbers of students of three classes
of a school are in the ratio 4 : 5 : 6, If
numbers of students in these classes
increase by 25%, 209 and 25%
respectively, then ratio of
students will become -

(A) 5:6;15

(B) 10:30:12

(C) 10:12:30

(D) 15:5:6

numbers of

91.

92,

93.

=qY AT
(27) Tifora Fer fagm

X - TR0 e Yo w2t 1 eprey

(A) =Tl =t st o d

(B) = =t =t W At 3

©) ﬁaﬁ&mmmm%m
g o S
waﬁmm%a@ﬁ%@w
TR

(D)

anmmﬁﬁv%mwmafﬁ
m@m%maﬁaﬁmaﬁﬁ
fewm 2y .

(A) 9B # TH

(B) =M =} avw

(€) =& R/ fasdy s

(D) F® a1 78 51wy

wﬁw%aﬁ*—mmﬁ%m’fﬁmsﬁ
PTG 4:5: 61 A 37 wanaii 4wy
1 e 1 gfig ww. 25%, 20% T 25%
ST 8, 79 B Yensi 5 39 @
S

(D) 15:5:6
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94,

In 2018, the total export of a raw material
is 3,60,000 tonne. Then the ratio of total
raw materials S, T and P, and the total of
QandRis:

>

94,

2018 W UH ®H= WA &1 Fo fHATq
3,60,000 27 ¥ 79 %= Al S, T a91 P 1
1T, TF Q TUT R % 41T T S9E ¢

(A) 7:5 (&) 725
(B) 5:7 (B) 5:7
€ 1:1 (© 1:1
D) 657 (D) 6:7
95. A convex lens of focal length f will form  95. fRI%H gl a1 3967 o9 & G X H
a magnified real image of an object, if the el T T ok e ARt vd g ghifae
object is placed. TS &1 7
(A) between fand 2f (A) fo2f% "
(B) between f and optical centre (B) f9 THNIG F% & ALA
(C) anywhere beyond 2f (C) 2f | e off
(D) none of the above (D) I9ded ¥ IS TE
96.  Aqueous solution of CH;COONa is : 96. CH,COONa I STy faeaT 2 -
(A) Alkaline (A) REE
(B) Neutral (B) R
(C) Acidic (C) erefg
(D) Amphoteric (D) Sy
SPACE FOR ROUGH WORK / T% &4 & fedt s
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97.

98.

99,

In the following figure if ¢=>50, then 6 =

30°
40°
60°

None of these

If OO means 1,000 tonnes, A means
500 tonnes, and O means 100 tonnes, and
production of four crops P, Q, R and S
are as follows :

P—=DON
Q— AAO
R— oo
S—00A

then production of which crop is
minimum ?
(A) P

Which of the following Vitamin is needed
for the absorption of calcium ?

(A)
(B)
©)
(D)

Vitamin A
Vitamin B
Vitamin C
Vitamin D

97. = fea ¥ afy ¢ =50, & 9=

98.

99,

A D

(A)
(B)
(©)
(D)

30°
40°
60°

T G FE T

afe O =1 a1 2 1,000 29, A =7 s &
500 2, du1 O H A § 100 =9, s 9w
wﬁP,Q,Rws%mﬁmaq%:

P— QoA
Q— AAO
R—oo0on
S— 00OA

T 4 WO 1 S9ed geg T )

(A) P
(B) Q
€ R
(D) S

1 9 4 $-w1 fererfir v % sraginm
% AU smavas dar &2

(A) feafm g

(B) foarfis =t

(C) faerftm &t

(D) forrfim
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100. Base of a parallelogram is 4 times of its

height. If its area is 324 cm?, then what
is its height ?

100. U TR TqYS H AHR T0F S9E F

ATA ¥ AfS T 9% 324 AHLZE @
TIH ST 991§ ?

(A) 81 cm (A) 81 4.4,
(B) 36 cm (B) 36 .
(€) 9em (C) 9=
(D) 108 cm (D) 108 F.4,
101. Of the following, the most suitable for ~ 101. 7= & & % T gras 7791 F forw gag
making permanent magnet is : IYTH & ?
(A) Steel (A) =
(B)  Soft iron (B) - @i
(C) Copper (C) W
(D) Nickel (D) fH&a
102. To travel a fixed distance a car takes  102. TF % 5N % Fifvwa gff 77 31 § 6 firge
6 minute less if it travels 4 km/hour faster W Tl € Afe 4 6., /5 a9 wea § @ik
and takes 8 minute more if it travels 8 Tz s emen ® Afg 6 Rt /5o oy
6 km/hour slower. Then that fixed Jor 71 99 9% Fifea g €
distance is :
(A) 36 km (A) 36 fo.m.
(B) 30 km (B) 30 Tep.H.
(C) 60 km (C) 60 fom.i.
(D) None of these (D) 99 ¥ =g =
SPACE FOR ROUGH WORK / T% &1 & ford wme
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103.

104.

105.

In an equilateral triangle ABC if AD.BC,
then which of the following statement is
true ?

(A) 2 AD?=3 AB?

(B) 5 AB2=4 AD?

(C) 4 AD?=3 AB2

(D) 3 AD2=4 AB?

If AB and CD are two perpendicular
diameters of a circle of radius 7 cm, then
what will be area of shaded portion ?

D

i

=

) 87.5 cm?
66.5 cm?
49 cm?

154 cm?

(
(B
©
(D)

—

On selling a vehicle Mohan has profit
equal to 30% of its selling price. What is
his profit percent ?

6
42—%
() 427

1
33 =%
) 3

©) 42%
(D) 33%

103,

104.

105.

T §Ha1g AABC # afg ADLBC, s firey &
BEERCIEPER: )

(A) 2 AD2=3 AB?
(B) 5 AB?=4 AD?2
(C) 4 AD?=3 AB?
(D) 3 AD2=4 AB?

At AB A91 CD fioa1 7 4. arét 9w % @
TG Y €, 99 BEifET 9 &5 S
e gnm 2

87.5 9.7 .2
66.5 9.Ht.2
49 {72

154 9.7.2

(A)
(B)
©
(D)

T T A e 3 fasd e
F 30% F TN T A1 ¥ IHE Y
gfcera Fr 82

(a) 422%

1
33 =%
B 33

(© 42%
(D) 33%
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106. In an elevator, the actual weight of a  106. fome ¥ fddt =g =1 amafas am =%

person is equal to the apparent weight STUTHT YR % TR BT 97

when :

(A) elevator is accelerating upwards. (A) faw s %1 3R =f| 2

(B) elevator is accelerating downward. (B) fome 19 =t 2k =f| &

(C) elevator is in uniform motion. (C) fow wF wum an & wfg &t @ &)
(D) none of the above (D) 39 H HIE 7

107. Ifheights of an sphere and a right circular 107, 3fg w9 5= @ v 7 TH T Sragwiy

cylinder of same radii are in the ratio AT H A 2:1F 3 A B, 79 ST
2 : 1, then ratio of their total surfaces will gt g3i ST B
be :
(A) 1:1 (AY 1:1
(B) 1:2 (B) 1:2
)y 2:1 <y 2:1
(D) None of these (D) 7 & % &

108. In circular motion : 108. Feig wfa & :
(A) velocity remains constant. (A) 37 Fra wm #
(B) acceleration remains constant. (B) RO foa T ®
(C) speed remains constant. (C) = fraa &t 2
(D) none of above (D) 39 H g TEf
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109.

110.

111.

From the data of following survey which
party is most popular and what
percentage of total survey that party
received ?

P— i 1 11

Q——> i I M 11

R— It 1 10

S—> I 4 10

(A) Q 20%

(B) R, 19%

(C) S 30%

(D) S, 24%

In the following figure if AB||CD, then x =

E
A c/ B
2x

C H%?;+10)" D

F

(A) 32

(B) 34

(€) 36

(D) 40

Which of the following is not correct about
Banking Model ?

(i)  Teachers are proactive in teaching.
(i) Tt restricts critical thinking,

First used by Paulo Freire.

(iv) Knowledge is kept in depository.
(A) (i), (i) & (iii)

(B) (i), (iii) & (iv)

(C) (i), (iv) & (i)

(iv), (i) & (i)

109.

110.

E 58

=1 w8 ¥ sifwsi & wod dfiey et
& 991 30 F T 1 e whr fran?

P— il 1 1)
Q—> I
R—> M 11
S—> M I I 4
(A) Q, 20%
(B) R, 19%
(C) S, 30%
(D) S, 24%

= femr 3 afg AB||CD, gax=

E
A G/ B
2x

C H%E:x+10)° D

F

(A) 32
(B) 34

€ 36

(D) 40

Frefefiaa # & Frmn S yoreht F o 3
e A R ?

(i) Torerss, svemmom & oreaft o &
(i) & STeTreT feaa =1 ufeeifee s
Bl

TS %R BRI YRSl SR I faen
TR

(iv) FH I = A @ T

(A) (), (i) 3R (i)

(id), (iii) 3T (iv)

(iii), (iv) 3 (i)

(iv), (i) 3 (ii)

(1)

&

(B
(C
(D

— St
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112. Which of the following does require 112, f=fafes # & foFd TFcqamas 39 #1
conceptual knowledge ? HFYIHA & ?
(A) Finding compound interest of a (A) Tosll & 7€ erafy # fou o ot
given amount in a given period TG SIS T HAT
(B)  Problems relating to averages (B) iiHa % Heifea wawn
(C)  Angle between two straight lines (C) = e st & ot %R
(D) All of the above (D) 3udieR |4t
113. 25 term of an arithmetic progression is 113. T GO 407 1 259 92 75 gagr 259
75 and difference of 25% and 24'h term is TS 24 S U I 3R 5 7, T 39 G0 0 5 4
5, then what is the 5™ term of that series ? R FR?
(A) 25 (A) 25
(B) -25 (B) —25
(C) 45 (C) 45
(D) —45 (D) -45
114. The Peroxyacetyl Nitrate (PAN) is : 114. FUeiEifes e, (PAN) 2
(A) H-CHO (A) H-CHO _
(B) CH,=CH-CHO (B) CH,=CH-CHO
(C) CHyCH,0-N=0 (€©) CHyCH,0-N=0
(D) CH;-C-0.0ONO, (D) CH;- C-0.0NO,
O o
115. In the following figure ZADBand £A0B  115. = 531 # 2ADB 7en 2A0B wwr: # -
respectively are :
(A) 60° 60° (A) 60° 60°
(B) 60°, 180° (B) 60, 180°
(C) 600, 900 (CJ 600, 900
(D) 605, 120° (D) 600, 120°
SPACE FOR ROUGH WORK / 1% &1 o forar s
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116.

117,

118.

119.

Which of the following is unconnected to
others ?

(A) Points on straight line

(B) Rational numbers

(C) Integers

(D) None of the above

Which species acts as acid like behaviour
in the following reaction ?

HPO.2~ + NH,'*— H,PO,1- + NH,
(A) HPO2-

(B) NH,*

(€) NH,

(D) H,PO,l-

The Fermi energy level in pure
semiconductor is :

(A) just above the valance band

(B) just below the conduction band
(C) in between fnrﬁi%iden energy gap

(D) none of the above

Penetrating power of X-rays does not
depend on :

(A)
(B) Energy

(C) Potential difference
(D)

Wavelength

Current in the filament

116.

LET:

118.

119,

ﬁwﬁmﬁﬁmmﬁaﬁﬁm%?

(A) 9@ @ v figd
(B) it weand

(©) ot wemg

(D) 39§ 9 %S 78

v axfvferen § Si-ot wivsirs 3T T I
TER L B2

HPO,2~ + NH,!*— H,PO,1~ + NH,
(A) HPO2-

(B) NH*

(€) NH,

(D) H,PO,'-

IS ASTeF H Bl St T gy & -

(A) HANT dT & FiF 3w

(B) =meH dT ¥ di A9

(C) afSta Fsit srrmer & e meg 3
(D) e 4 i

X - foruoif =1 Jue &HA1 R 1 o

(A) e g

(B) it m

(C) favarm w
(D) d= F U 9w
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120. What will be the time period of oscillation,

if the length of a second pendulum is one
third ?
2
3
1

3
2
5
4

(A)

S

(B)
© B3
——= 8

V3

120. 3R T&F Yds Ao it AR T TR =

& 9 @ 9 HF il F SIEd wie
B

2 s
(A) 3 s
e
(B) 3 s
e
© 5 s
AL
D) 75 ¥%s

4
121, (8"°x4%°x23%) 13- 121. (81'5x42'5x23'5)%=
(A) 3 (A) 3
(B) 16 (B) 16
(C) 475 (C) 475
(D) None of these (D) ¥ ¥ #E T
122. Match the following : 122. 3fe@ dey Sifed
(a) Zygotene (i) Crossing over (a) guH e (i) fafmm
(b) Pachytene (i) Terminalization (b) TYcTUg e (i) ST
(c) Diplotene (iii) Open, long, thin (c) fguee srawen (iii) Gel, T, Tae
thread YT
(d) Leptotene  (iv) Synepsis (d) TIHA e (iv) 93 3=
(@ (b) (c) (d) @@ (b) (o) (d)
(A) (v) (@) () (i) (A) Gv) @) () (i)
(B) Gv) () @) (i) (B) () (1) (i) (i)
© () @ @) (i) € (v) @ @) ()
(D) @v) () @) () (D) (v) (i) () @)
SPACE FOR ROUGH WORK / T% & & ford sre
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123;

124,

125,

Finding the curved surface area of solid
cylinder involves which of the following
concepts ?

() Areaofa rectangle

(i)  Angle of a quadrilateral
(i)  Circumference of circle
(iv)
(A)
(B) (i), (iii) & (iv)
(©) (i), (iv) & (i)
(D) (iv), () & (ii)

Area of a circle

(1), (i) & (iii)

Classification of Linnaeus is which of the
following type ?

(A) Natural
(B) Artificial
©

(D)

Phylogenetic

Semiphylogenetic

10 ml 0.5 (N) hydrochloric acid is
required for the neutralisation of 1 (N)
sodium hydroxide. The volume of
sodium hydroxide will be :

(A) 5ml

(B) 10 ml
(©) 15 ml
20 ml

123, ﬁmﬁmaﬁ@ww,mﬁm'ﬂ

124.

125,

T WAE ATH 99 F N ey §2

() 3™ F e
() =G 1 Hror
g9 1 ufify
(iv) 99 &1 a9Fe
(A) (1), (if) 3TR (i)
(B) (i), (iif) 3T (iv)
(©) (), (iv) 3R (3)
(D) (), (i) 3R (ii)

(1)

s #1 iffewwor fee & | frg wew =
8?2

(A) wTHfTH
(B) Ffm

(C) Sty
(D) refsmfrga

1(N) Hifezm ergioaree % serdm w3 &
AT 10 ml 0.5 (N) eREEtE o w5t
e d Bt 81 Tifegn wreuEe w5
ST -7 & 2

(A) 5 fisit
(B) 10 fi=ir
(C) 15 foeit
(D) 20 foeit
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(2019-1)(2019+1)(2018—1)(2018 +1)......(2-1)(2+1) _
(2019% —1)(2018% —1).......(2% 1)

(A) 0
(B) 1
(C) 2018

(D) 2019

127. If admissions in 4 schools P, Q, R and S
respectively were 1200, 500, 800 and 900,
then maximum number of students
passed from the school (from the
following data) is :

126.

127.

(2019-1)(2019+1) (2018 1) (2018 +1)......(2—1)(2+1) _
(2019% ~1)(2018° — 1)......(2° 1)

(A) 0
(B) 1
(C) 2018

(D) 2019

A 4 TFal P, Q, R 3R S # waw wwsm:
1200, 500, 800 3fR 900 9, T« = e
% YR W 7 e 4 afusan o uw

BUE?

70 70
& 60 0% 601 2k
g 501 o E 50 {
Bt UO 40%
&0 o ] 30% 0T 200 30%
g g0 A= - E st
& .0l [P| |Q] [R| |S 20t [P |9 [R| |S
10 10 1
Schools A '
(A) P (A) P
(B) Q B) Q
© R © R
(D) S (D) S
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128.

Quantity of import in
thousand quintals

Between years 2015 to years 2018, when
per quintal import price was maximum ?

*—= Quantity of import

4 xx Cost of import [ s

3

Pl b 00 &

v

15] &0 §
121 60 ¢
40 =

2 36 S
6 t 30
k!

<] | X 20 ..é
oot Be e Bilea e W]

2015 2016 2017 2018

128,

a4 2015 ¥ 99 2018 F st i firiza st
qed Haifdes e @17

—s AT H g
p XX AT H G T

2015 2016 2017 2018

(A) 2015 (A) 2015
(B) 2016 (B) 2016
(©) 2017 (C) 2017
(D) 2018 (D) 2018
129. Which of the following phenomena is not 129. YW U5 @i @@ § $E-m1 O HHE TR
common in light and sound wave ? ®?
(A) Interference (A) =afaso
(B) Diffraction (B) foadq
(C) Polarization (C) yau
(D) Reflection (D) 9T
130. Which of the following organ is affected 130, e i 4 firs 5 @ F-T1 27 g9 2
in Measles disease ? g2
(A) Skin and Nervous System (A) == UF w95
(B) Skin and Respiratory tract (B) I, Y997 el
(C) Liver (C) 3IFa
(D) Blood (D) ®fim
SPACE FOR ROUGH WORK / T% &4 & fordt wre
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131. In a full wave rectifier if the input  131. TF i W femslt § aft frinh smafy
frequency is 50 Hz, the output frequency 50 Hz @, @ i smafe &nft .
will be :
(A) 50 Hz (A) 50 Hz
(B) 100 Hz (B) 100 Hz
(C) 25Hz (C) 25Hz
(D) 75Hz (D) 75 Hz

132. Whenaray of lightentersa glassslabfrom  132. 59 Wepr91 & faor I ¥ H4 F TeH H
air, then : ToIe Hl €, @
(A) Its wavelength decreases. (A) SHH T T T
(B) Its wavelength increases. (B) Skt wieeAd et ¥
(C) Its frequency decreases. (C) ZH= sgfa gt 7
(D) Its frequency increases. (D) 39! 3mafa sedt 21

| 133, A rectifier is used : 133, =il %1 39 & .
| (A) to convert ac voltage to dc voltage (A) YeIrER et i fow dees & sger
(B) to convert dc voltage to ac voltage (B) fa= deest =it yeae ateesl § Sieer |
(C) to convert low ac voltage to high ac (©) T yored dees #1 5= yearad
voltage A H 5o |
(D) to convert low dc voltage to high (D) fm= few dees &t 3= fow geesr §
dc voltage BRI
SPACE FOR ROUGH WORK / T% &Td & ford se
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134.

135,

136.

Energy required to break the covalent
bond of a semiconductor is -

(A) always 1 eV

(B) equal to energy bandgap of
semiconductor

(©) equal to Fermi energy

(D) less than Fermi energy

In population of a city the ratio of men
and women is 12 : 11. If total population
of that city is 4,60,000, then the
population of women is :

(A) 20,000
(B) 2,20,000
(C) 2,40,000

(D) 24,000

Ramu paid X 19 after purchasing 2 pens
and 3 pencils while he paid ¥ 37 when he
purchased 5 pens and 4 pencils. Then
prices of pen and pencil per unit were
respectively :

(A) 5,3
(B) 3,5
© 75

(D) 5,7

134,

135.

136.

TF HEHACH | WE-oa et ¥ o
HAYIE el Bl &

(A) WF1eV
(B) aﬁw%mﬁgm%w

(©) wHl S % sar
(D) wH oot | wy

UF W H e § g w§ for g
ST 12: 117 | A 39 IR it et vy
4,60,000 ¥, 79 ferdi #t sFeren 2 .

(A) 20,000
(B) 2,20,000
(C) 2,40,000
(D) 24,000

T 2 99 3R 3 ¥fel @iy & = 7 19 =7
T o2 St 5 99 qen 4 e @iy
%m%wmwﬂw:mnﬁwﬁa
S et FF wh off s -

(A) 5,3
(B) 3,5
(C) 7,5

(D) 5,7

SPACE FOR ROUGH WORK / T% &4 & forl s
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© 137. Match the following :

138.

139,

(a) Diphtheria (i)
(b) Cholera
(¢) T.B.

(d) Measles
(e) Typhoid

Vibrio

(i) Salmonella

(i) Corynobacterium
(iv) Mycobacterium
(v) Viral disease

@ () (@ (d (e

(A) G) @) (@v) (i) (v)
(B) (@) () (v (@v) (@)
(€ @) @v) @ (v) (i)
(D) (@) @ (v) (v) (i)

From a rectangular wooden piece of
16 em length, 12 cm wide and 8 cm thick
at least how many cubes can be made of
equal volume whose number is a whole
number ?

(A) 64

(B) 34

(C) 18

(D) 24

ABCD is a trapezium in which
ABJ||ICD, OD=3x~7 ¢cm, OB=x+6 cm,
OA=2cm, and OC=2x+3 cm. Then
X=

A % B
0
C D
(A) 2
(B) 3
© 4
(D) 1

137. 3faw day aifsy .

138.

139,

(a) Tewefiftan (i) Tofemr

(b) & (i) A

(c) 214 (i) AR
(d) @HU (iv) wHafaiEy
(e) TEEHEE (v)  farmo 3

(@ (b) () (d) (e
(A) (@) () (@v) @) ()
(B) (i) (i) (v) (v) (i)
Q) () @v) (@) (v (i)
(D) Gii) @) @v) (v) (i)
16 9.H1. @varE, 12 |/, =er qe1 8 /.4,
HIER o UF AAAER aHe F IHe
T SAFTT 5 F0 9 HY fve 59 599 o
R @ Torent Heen us qul e @12

(A) 64
(B) 34
(C) 18
(D) 24

ABCD U& vers Jg4s ¥ frad AB|CD,
OD=3x-7 ®.71.,0B=x+6 .4,
OA=2q.Hl., I OC=2x+3 A5, &1 7=
=

(A) 2
(B 3
©) 4
D) 1

SPACE FOR ROUGH WORK / T% &TE & ferd se
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140. Printed price of a mobile is ¥ 6,400. Itis 140, W e %7 3ifea eI 640081 9 S

sold in X 2,560 with two consecutive HIF 5 & Wy 2 2,560 H =1 I ¥ Afg
discount. If first discount is 20%, then B 5 20% &, W g5 wE faa 2
what is the second discount ?
(A) 15% (A) 15%
(B) 20% (B) 20%
(C 25% (C) 25%
(D) 50% (D) 50%
141. Thermal expansion of solids are : 141. Il H ity wam Bl ¥
(A) 2 types (A) 2UHRF
(B) 3 types (B) 3 ¥HR &
(C) 4 types (C) 49FR*
(D) 5 types (D) 5 9#R *
142, I 34-las, i Pt 142, R x4z, 7w 45 yil
x x x X
(A) 243 (A) 243
(B) 5 (B) 5
©) 123 ©) 123
(D) None of these (D) = & FrE 7
143. The heat can be transferred by : 143, F07 G=rv f1 g B 1
(A) Conduction (A) =meH
(B) Convection (B) wHaed
(C) Radiation (C) fafetor
(D) All of above (D) 39 Tt

SPACE FOR ROUGH WORK / T% &1 & fo1d g
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144. Length of the median of an equilateral  144. e GHSIG VS ol AT &l ohvalrg 3 9.1,

triangle is 3 cm. Then what is area of that B 9 39 B @ s fRam &2
triangle ?
(A) 343 cm? (A) 343 §12
1 1
® 7 cm? ® 75 |2
2 2
© 7 em? © 7 |2
(D) 9 em? (D) 9 W2

145. Which of the following food chain begins 145, 94 5 9 =1 41 @m %2l 9 wgail ¥ Wiy

with large animals ? BT R?

(A) Predator food chain (A) & @@ FE
(B) Parasitic food chain (B) WSiel @I e
(C) Saprophytic food chain (C) Fargsiar @m.aﬁg"r
(D) All the above (D) 39de w+l

146. Which of the following is the most general ~ 146. fr=ifafad 7 @ wiadl waffus wm=

concept ? HehHeTl & 2
(A) Square (A) o

(B) Rhombus (B) FHEgHS
© Re;:tangle ()
(D) Quadrilateral (D) =g

SPACE FOR ROUGH WORK / T% &td & ford wimg
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147. The pH value of 1x 10~8(M) HCl is :

148.

149.

150.

(A) 8.00
(B) 6.99
C) 7.01
(D) 6.00

The source of magnetic field is :
Isolated magnetic pole
Static electric charge
Current loop

None of these

100 ml solvent is given us for the
extraction. Which of the following
extraction will be most effective ?

(A) Only one time extraction by 100 ml.
Two times extraction by 50 ml.
Five times extraction by 20 ml.

One time extraction by 40 ml and
two extraction by 30 ml.

Mirages are observed in deserts due to the
phenomenon of :

(A)
(B)
©
(D)

Interference of light
Scattering of light
Diffraction of light

Total internal reflection of light

147. 1x10~8(M) HCl %1 pH |7 &

148.

149.

150.

(A) 8.00
(B)
(©)
(D)

6.99
7.01
6.00

TEHT G T Ea

(A) SRS TR g
(B) e o smam

(€)Y Ty

(D) 3% o wrg =

ﬁﬁﬁﬁdﬁﬁ%%mmoﬁaﬁﬁm
ﬁmw%;ﬁmﬁﬁ%gmqw
ety gyret 2

(A) 100 foeft % grT et v o firspfup |
(B) 50 faedt % gm0 &) 9 s

(C) 20 fieft & gry i a gy
(D) 40 fAelt % gr1 ww aw frepdor qop

30 fireft % gRY & forssefr

weRIe # HTaH # e 1w g d
(A) 91 =1 SFfaet

(B) W I Wehivig

(C) THm w7 fomd |

(D) 9T <1 gof sfiss qerady

SPACE FOR ROUGH WORK If 7% ‘& % forar e
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FOURTH PART
(B) SOCIAL SCIENCE

=Y W
(&) QIS 3eTaTq

91. Tree and Compulsory Child Education 91. frges wd HAfard s faear 1 sifusr
Act, 2009 has been enacted for : srfufaam, 2009 fFaF fo s@m T 82
(A) All children of the age group of 6 to (A) 6914 99 % gt =1 & fery)
14 years.
(B) Disabled children. . (B) fesaim s=ai & fom
(C) Girl children of the age group of (C) 6 ¥ 14 T4 i snferristi F foru)
6 to 14 years.
(D) Children belonging to Scheduled (D) it Sienfa =i & faw)
Caste and Scheduled Tribes,
92. Which types of rainfall in the following 92. yra ® 5= # | foFm wehm 1 9wt 9@ 2
does not occur in India ? &2
(A) Mountain Rainfall (A) Tadrg =El
(B) Heavy Rainfall (B) HEeTHR Fui
(C) Convectional Rainfall (C) wamefT= =ui
(D) Cyclonic Rainfall (D) =shArdTd aHi
93. Which of the following was the major ~ 93. WIS %@ § 9RA % a@d fava & @iy
reasons for establishing India’s cultural itpias Hadi &1 97@ wrv FHefafes
relations with outer world during ancient T 91 917
times ?
(A) Military invasions (A) T srfiEm
(B) Commercial contacts (B) =AU Hay
(C) Naval expeditions (C) - safyam
(D) None of these (D) 78 | HIE T8
SPACE FOR ROUGH WORK / T% &4 & foa e
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94.

95.

96.

Sequence the following as mentioned in

the preamble of the constitution :

(a) Liberty of thoughts

(b)  Liberty of belief

(c)  Liberty of faith

(d) Liberty of worship

(¢)  Liberty of expression

A @ © @ @® (@
B ® @ @ @ (
© & @ © (@ @
DOy @ @& ® («© @

What was the purpose of collecting
donation by Gandhiji in his first visit in
this state ?

(A)
(B)
(©)
(D)

Jallianwala Bagh Relief Fund
Congress Cosh

Tilak Swarajya Fund

Hind Swarajya Kosh

Why the project work is given in

Sociology?

(A) Project work can be finished very
fast.

It saves time for both the teacher
and students,

To be sent to the exhibition
organised at the state level.

It develops the creative skills of the
students,

94,

95.

96.

#&rmﬁmmmﬁa?ﬁaﬁﬁtrﬁaaﬁ
ﬂ?qﬁtl’@{:

(@)
(b)
(©)

(d)
(e)

(4)
(B)
(©)
(D)

foam #it @
forvem =t =

YT T e
SUTHAT &t el
=T #1 @
@ © @ @ (o
® @ @ @ (
®) () (© (e ()
@ @ ® (@© @

wmﬁﬁzﬁaﬁﬁmymaﬂw%m
fora 39 <9 wa fae o2

(A)
(B)
(©

STifeEteTen smT T woe
FHIT Iy
foers = e

(D) fe= w=mg =y

wﬁmﬁmqﬁmmmmﬁ%mm
#?

(A)  WEISET 7 St ot g
(B) - A9 & S5 i HHg A=
(©) T4 TR AP Fei & ooy 2

Eiziien THACHE 19! 1 faspr 2
gl

(D)

SPACE FOR ROUGH WORK / T %14 3 forgy e
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97. Between whom of the following the  97. 1576 %. # gearae #1 Wiag 7% frfafas
famous Battle of Haldighati was fought T 8 forTa g e T u1?
in 1576 A.D. ?
(A) Akbar - Uday Singh (A) HweR - 33 fag
(B) Akbar - Rana Pratap (B) 3TsheX - T9m 9ard
(C) Mansingh - Uday Singh (C) wrHfHE - Icafds
(D) Mansingh - Rana Pratap (D) wHfEs - T ATy
98. What is correct ? 98. Wel H 87
(a) A person who is not a citizen of (a) UF AR S URA T AVRS T8 T,
India, holds any office of profit or T & A FE Ay a1 favam &
trust under the state can accept any S HRO A ©, faeh s ¥ W
title from foreign state. Iy TR X T T
(b) A person who is not a citizen of (b) U AfR S YRG F AE T T,
India holds any office of profit or T & A wE @Y T favam w5
trust under the state can’t accept YR YR HI 8, foRet vy | wE
any title from foreign state, Iy e 6 T He |
(¢) A person who is not a citizen of () TF Afw St wRa 1 TR @ T,
India holds any office of the profit T F 7 g @y A1 favarg @
or trust under the state can accept 9§ 9RO Hal ¢, fooeft v | wie
any title from foreign state with the Ity Tregefa 1 wenfy ¥ mew
consent of the President. T 2
(d) A citizen of India holds any office (d) RA @ TF AE ST F
of the profit or trust under the state ' HTE Y A1 TIvE #7198 HROT
can accept any title from foreign ®, Tgufa 1 weata % fom fash vy
state without the consent of g Hﬁ? saify TG T Hehel %I
President.
(A) (@), (d) (A) (a), (d)
(B) (B), (¢) (B) (b), (c)
(©) (@) (9 © @ (©
(D) by T .. D (@ G
SPACE FOR ROUGH WORK / % &1d & fod se
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99.

100.

101.

In which year Tsunami was maximum

that affected the coast of Tamil Nadu ?
(A) 2004

(B) 2006

(C) 2008
(D) 2009

Which of the following pair (Governor-
General of the company and War) is not
correctly matched ?

(A) Warren Hastings - Rohilla War
(B) Lord Wellesley - Third Mysore War
(C)  Lord Hastings - Third Maratha War

(D) Lord Hardinge - First Sikh War

What is the name of the Satyagrahi who
Wwas assassinated in Jungle Satyagrah of
Rajnandgaon in 1939 ?

(A) Shyamlal Som

(B) Ramadhin
(C) Dinanath

(D) Pyarelal Singh

29,

100.

101.

@)

for o afirerg 72 9 g 3 i
vufara o a7 2

(A) 2004
(B) 2006
(C) 2008
(D) 2009

Frefefian & 2 = e (e 3 me
S TS 3 35) g T ¥ 2

(A) =T Rt - Afeen 7

(B) e dctwrett - efta e 7

(©) = e - gt mer 45

(D) mmﬁa-wﬂwm@g@

TSRS #1939 & Siret weme & wdte
T TAE & A

YA |

(B) I

(C) TAry

(D) e fie

SPACE FOR ROUGH WORK / T% &1 & fort g
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102. The following Bhakti saints established

103.

social harmony by breaking the age-old
caste system :

(a) Guru Nanak  (b) Kabir

() Gyaneshwar (d) Tulsidas
Select the correct answer :

(A)  (a), (b) and (c)

(B) (b), (c) and (d)

(€) (a), (b) and (d)

(D) (@), (b), (0) and (d)

Which of the following statements is not
true about the Mughal administration ?
(A) Mughal administration was based
on centralized despotism.

(B) It was designed according to the
Islamic laws,

(C) The centre had established dual
control on the provinces (subas).

102.

103,

frefefaa wfem ddf 3 sifa-gen =1

FaEY] digsh AHifae agura wenfya fan
(a) T® TEH (b) Eh‘aﬂ'{

(€ TR (d) gerer
HEr I g :

(A) (a) (b) T (¢)

(B) (b), (c) T (d)
(©) (a), (b) T (d)

(D) (a), (b), (c) T (d)

qTel gurEE % ey ¥ frefafaa §F @
I | HUT WA 82

(A) 9T g FEAF FigEr w
T ar )

(B) THHI TN T FTAI F ATER
T TE oft |

(C) &= 31 =l (gE) W By fgam
Tenfua o T o)

(D) Mansabdars played prominent role (D) WA § GIGEER] #1780 yfieet ot |
in the administration.
SPACE FOR ROUGH WORK / 7% &4 & fod wme
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104. Match the following (Maratha chief and
treaties concluded by the company)

1

List - 1 List - 2
(Chiefs) (Treaties)
(a) Raghuji Bhosla | (i)  Treaty of
Bassein
(b) Daulat Rao (i) Treaty of
Sindhia Devgaon
(€)  Yashwant Rao (iii) Treaty of
Holkar Surji
Anjangaon
(d) Baji Rao II (iv) Treaty of
Rajpurghat
Select the correct answer _
(@) (b) (c) (d) '
(A) () @) @) (i)
B) @ Gv) (i) @)
© @ @ G @)
D) @) @) (@v) ()
105. Which of the following statements is not

true about the Bhakti Movement of

Medieval India ?

(A) The Bhakti Movement was inspired
by South
Acharyas.

Indian Vaishnava

(B) It emerged as a reaction to Islamic
encroachment on Hinduism during
the Muslim rule.

It manifested in two branches-
Nirgun Bhakti and Sagun Bhakt,

(©)

(D) It resulted into the development of

literature in regional languages.

104. gﬁ%ﬁaﬁﬁq(ﬂﬂaw@mﬁm
@t T Hfimr)

-1 -2

(|Ew) ( wferat )

() TSI e yom () =T 31y

(b)  SrererTa ffirn (i) =M F

Yy
(c) IvEaTE Bewt (iii) ST sy
I Hfy
(d) = feedtr (iv) USTIEE
Hfy

Tl SR T
@ () (o) (a)

(A) @) @) (@) (i)

(B) @) (Gv) (i) ()

© @) @ @) (v

D) @) (i) (v) (i)

105. HHHAS wRd % ufm sieem ¥ ey
Fraferfaa % 4 <1 a1 #om st 22
(A) T STieem afar e S et

510 Ui on)

(B)  HReT WrrTehret  fiewg orvf o g weemy
%wﬁmﬁmﬁm%wﬁm
qIguie gam

(C) =@ = wmensit - fFrjor wfw sie g
wfert - & wehe ge |

(D) w8 9ftom dfta st 4 i &
fom % w9 4 gam
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106.

107.

108.

In Himalaya the deepest Gorge is made
by which river ?

(A) Chinav river
(B) Jhelum river
(C) Ravi river
(D) Indus river

India is a Republic because :

(a) It has a Democratic Government.

(b) It has a Parliamentary Pattern of
Government.

(c) It has no any office heriditary.
(d) The President is elected.

(e) The President is elected for a certain
period.

(A) (@ G (©
(B) () (9 (@
© (© @@ (o
(D) @ € @

Where is the maximum deposit of
Manganese ?

106. Temrerm ¥ wad el v S 9 9 a9 8 2

107.

(A) fomE =&
(B) Zrem e
(C) &t 7=t
(D) foy =

YA T TR ©, il
(a) TEl YSIEI=e TR 21
(b) I HEE YUNE i TFHR ¥ |

(c) =l I UE S9N TE B
(d) wregfa faffaa g 2

(e) Trezufa ww v smafy % fom Feifas
B |

(A) (@ (b) (o)
B ® (© (@
€ @ (@ (
D @ (© (@)

108. HrTs =1 stfshan f8y &el &2

(A) Mungeli (A) Hire
(B) Balrampur (B) TR
(C) Janjgir-Champa (C)  SiSTi—=T
(D) Bilaspur (D) oI
SPACE FOR ROUGH WORK / T% &1 & fort snre
Set - A 9210/ TE-SET/ELG-E



109.

110.

111.

For the inforcement of Fundamental
Rights Supreme Court has what types of
powers ?

(@)
(b)
(c)
(A)
(B)
(©)
(D)

To issue orders

To issue directions
To issue writs

(a)

(a) ()

@ ® (o

None of the above

In which of the following spheres the
Hindu-Muslim cultural sythesis is evident
as a result of Bhakti Movement and
Sufism ?

(A)
(B)
(©) (A) and (B)

(D) None of these

Music

Literature

Religion, marriage, family, caste are
example of :

(A) Social Values
(B)
(©)
(D)

Social Institution
Social norms

Social Segmental division of society

109.

110.

tﬁfﬁmaﬁ:ﬂaﬁwﬁamﬁ%fmnﬁa
A % 5T vhR # i e

TR W HET
ey It
TG S Hr

(a)

(@)
(b)
(©)
(A)
(B) (@ (b)

© @ ® (
(D) 37w # & % 7

uﬁaaﬁmaﬂtﬁﬁaﬁ'%w&mq-m
ﬁqﬁf@aﬁ'ﬁﬁnﬁﬁ'%@—ﬁﬁm
TIEhfaes THIT ganr ?

(A) i

(B) wifed

© (A) T (B)

(D) 9 | = 78

111. H#,ﬁamvﬁarz,mﬁmnﬁ:ﬂm%:

(A) S gogi 3%
(B) wmHIfTes Hrepadf
(C) umifas amef %

(D) =S & grfo @vey @ve % vy
H
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112. Mark out the correct sequence of  112. YRd H fom qun fowmm @ ol 1w

perspectives on gender and development FTHY A

in India.

(A) - Welfare, Empowerment, (A) e, quifses, fawm
Development :

(B) Empowerment, Development, (B) wwfaaeso, faepm, Heam
Welfare

(C) Development, Welfare, (C) foepr™, sweamor, Goifesto
Empowerment

(D) Welfare, Development, (D) heEr, T, wofaso
Empowerment

113. The following were the rulers of the Gupta 113, e wmas T 59 & 4 :

dynasty :

(a) Samudragupta (a) HHEIW

(b) Ramgupta (b) THT

(c) Shrigupta (c) &=

(d) Skandagupta (d) THET

Arrange them chronologically. STeh1 Shicshy it sifsma)
(A) (@), () (d), (b) (A) (@) (), (d), (b)

(B) (b), (d), (@), (c) (B)  (b). (d), (a). ()

(€) (o) (@), (b), (d) ©) () @), (), (d)

(D) (d). (b), (¢), (a) (D) (d), (b), (). (a)

114. Which of the following statement is  114. $H ¥ % T HYT WA ¢ ?

true ?

(A) All planets revolve around the Sun. (A) Tt wg g4 =t afisem + ¥

(B) All planets emit light. (B) @t ue g scafSia #a T

(C) Moon is a planet of the Solar (C) ==H1 91 Hed %1 & U B
System.

(D) Earth is the nearest planet to the (D) et ¥d & wed fehe &1 1R B
Sun.

SPACE FOR ROUGH WORK / T% &Td & f&d w78
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(©)
(d)

116.

115. Match the following (writers and works

during the Mughal period)

List - 1 list - 2
(Writers) (Works)
Mulla Daud (i)  Tarikh-i-

Alfi
Mutmad Khan (i) Nuskha-i-

dilkusha
Khafi Khan (iif) Igbal Nama
Bhim Sen (iv) Muntakhab-

ul-lubab

Select the correct answer :
@ (b)) () (d)
(A) @ () (v) (i)
B) @) (@v) () (@)
© @) & @) ()
(D) @v) @) () (i)

Which of the following is not associated
with the Absolute Poverty ?

(A) Poverty Line
(B) Deprivation Index
(C) Basic necessities of life

(D) Material deprivation

115. FAferm FoT (qrrerehredi eraes Ts =)

(a)

(c)
(d)

116.

el - 1 el - 2
(= ) ( 7o )
ool 2138 \ (i) aRE-u-

TR
qaHE G (i) FEE-u-

feerw
CIEIRCIE] (i) sEHETE AN
Bl (iv) HaEgs

_W
Hﬁ'?ﬁi’(ﬂﬁq:

@ () (o) (d)
(A @ i) Gv) ()
B) @) (@v) (@) (@
(©) @) @) ()
(D) () (i)

—,
et
—
—
~—

Frefertea § 4 &9 ar ' gof 1iet & geifug
THe?

(A) T

(B) VA T==ag

(C) it Hi goivya =y
(D) #fae SHiayA
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117. Why the continuous and extensive  117. Had Ud =4 qedis i a1 5 &7
valuation is carried out ?
(A) For class promotion (A) el & fog
(B)  To help children in learning (B) == % Hhe # weg ¥ fau)
(C) To prepare Report card (C) fr &€ s9m 2q!
(D) To issue a completeness certificate (D) qofan oo 93 33 ?q
118. Which of the following material is used 118 TER F w5 ey’ § Fpafates § 4 feg
in the ‘Ghadwa Shilp’ of Bastar ? Tt = GAT S ¥ 2
(A) ~Brass and Bronze (A)  diae ud |
(B) Iron and Lead (B) el T Hran
(C) Brass and Zinc (C) e v s
(D) Wood and Bamboo (D) ©E TE 99
119. IF most of the students of the class are 119, =t freft e & sifsiy <= dra T MR
unable to learn then what should the TN A frafy F foerm = F= I Hifsu ?
teacher do ?
(A)  Answers of the questions should be (A) Eﬁ%ﬂ?ﬂ'm R fora S =few |
written on the black-board. '
(B)  Extra class should be taken. (B) U FIY AT =R |
(C) Should bring modification in his (©) o7 foveg fafly & srgema wn wfe
method of teaching,
(D) Complaint should be sent to the (D) ==l & stfyvmasl 4 fowmd o o@
guardians of the students. et |
SPACE FOR ROUGH WORK / % %7 % foid smTg
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120. Which place in the following does not

have Jute Industry ?

120. 19 9 4 foF =M RS2 3eim foga =8 §2

(A) Raniganj (A) TS
(B) Titagarh (B) TR
(C) Birlapur (©) fawemg
(D) Bansberia (D) wigafan
121. Malch the following (Indus Valley  121. Gaferm ®ifrg (fiy 12t weaer % ot ik
civilization sites with their geographical % driifers wm)
Location) :
List - 1 List - 2 gt - 1 HEt - 2
(Sites) (Location) (vorer) (¥=T)
(a) Harappa (i)  River (a) o GV
Ghaggar
(b) Mohenjodaro (i) River Ravi (b) TSR (i) TR T
(c) Kalibangan (i) Gulf of (c) e (ili) TP HT
Cambay et
(d) Lothal (iv) River Sindh (d) s (iv) oy =
Select the correct answer : & W i
@ () (© (@ @ (b) () (a)
(A) @) Gv) @ (i) (A) @ Gv) @) ()
(B) @) @) (i) (iv) B) @) @) @) (v
©) (v) @) @) () ©) Gv) @) @ @)
(D) () @ Gv) (i) (D) @) @ Gv) ()
SPACE FOR ROUGH WORK / T% %14 % ford W
9210/ TE-SET/ELG-E 51 Set - A



122. Which is not written in the Constitution ?

()
(b)
(c)
(d)

(e)

0

123.

Cabinet
Interim Cabinet
Budget

Prime Minister will be the leader of
majority party of Lok Sabha

Prime Minister will be head of
Council of Ministers

Council of Ministers will be
responsible collectively to Lok
Sabha

The tenure of Lok Sabha will be 5
years

@), (b), (), (d)
(b), (c), (d), (e)
(©), (d), (e). ()
(d), (e), (). (8)

Who argues that ‘families are factories

which produce human personalities’ ?

122. dfayur o == 78 foan & 2

(a)
(b)
(c)
(d)

()

()

(2)

(A)
(B)
(©)

(D)

123;

Hi=HvEe
=i afamvee
EEr

T ARTH % FgHd Tet &1 3l
Eul

SuEHSR, BfEafeg % gfee e

:qﬁvﬁqqa‘lwm%wﬁmqﬁﬁm

q IS Bt

TAHET T 3@y 5 o9 et

@), (b), (), (d)
(b), (©), (d), (e)
(€), (), (e), ()
(), (), (). (g)

7% foas! gfw ¢ fo ''oftar 3 srEr §

el Oe AR #1 SAeT e S

(A) M.G. Smith (A) T fmy
(B) D.HJ. Margon (B) SLu=.S. AviA
(C) G.P. Murdock (C) it weEtH
(D) T. Parsons (D) 3. gnEw
SPACE FOR ROUGH WORK / T% 14 & fod wig
Set- A 9210/ TE-SET/ELG-E



. If the Vice President removed from his
office, what shall happened ?

(A) Till the new election of Vice
President, the office will be vacant

(B) The President will nominate Acting
Vice President

(C) The Parliament will elect Acting
Vice President

(D) The Deputy Chairman of Rajya
Sabha will act as Acting Vice
President

- What would you do if there are disabled
students in your class ?

(A)  Advice will be given to their parents
to send their child to a special
school

(B) Make them sit away from other
students,

(C) Help them in learning as required.

(D) Tell them to sit quietly.

124,

125.

afe Swrgafa ® 95 | v fean T A a4
B ?

(A) T T B T ST 5 ve figg
T
(B) Tregufa et Swrefy Fiftg s

(C) oy Frfwrt swrseafy gt

(D) TS89 %1 39-gurafs sdend
STyl & 9 F F7 woy

afe a9t wan § fesgim w1 ¥ @ o9 T4
Exu;

(A) 3% e foar 1 o 39 5 3 fasy
e J 99

(B) % 3= 9= 4 R A=

(C) HAEE AR Hied § weg #i |

(D) % 999 d7 FE |

/ TE-SET/ELG-E
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126. The following pair (Veda and its 126, Frafafas g (32w 98 werg s

Brahmana) is not correctly matched ? nY) gafaa & 2

(@) Rigveda - Aitarey (@) FOT - e
(b) Samveda - Jaiminiya (b) E AT - Sifyg
(c) Yajurveda - Taitareya () TR - e
(d) Atharvaveda -  Shatpath (d) yEag - ey
Select the correct answer : & I g

(A) (@ (A) (a)

(B) (b) (B) (b)

© (9 € (9

(D) (d) (D) (d)

127. According to the article 361 of the  127. HfA¥M & 78T 361 % TR F7 =ATITer

constitution who is not answerable to the % 9t Saeee e €2
court ?

(a) President (@) Irgufa

(b) Governor (b) TEYE

()  Rajpramuk () TSIgE

(A) (a) A) (@

(B) (a) «(b) (B) (a) (b)

© @ ® (o € (@ {® (9
(D) None of the above (D) 39ga d 9+ 7&

SPACE FOR ROUGH WORK / T% &Td & fod we
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128. Match the following in the context of 128, |9 % 9 X11 % gl 7 ghfem Fifg
Part XII of the Constitution :

Chapter Subject T famyg
@) I ()  Borrowing (@) 1 (i) FUR <A
b)) 1 (i)  Right to (b) 1I (i) w5
Property e
(c) I (i) Finance () I (i) fa=
(d) TV (iv) Property, (d 1v (iv) =Y,
Contracts Fﬁﬁﬁ #fg
elc.
@ () (o) (a) @ () (o (@
(A) () @) @Gv) (i) (A © @) @v) (@)
(B) (i) @) @) (v) (B) (@) @) @) ()
© @) v @ (i) © @ Gv) ) ()
(D) @) @) (@v) (i) (D) @) @ (@v) (i)

[29. Coya tribes are residents of which 129, FH S b et | Framg et 82

district ?
(A)  Bijapur (A) e
(B) Gariyaband (B) TiftFrsig
(C) Jashpur (C) wmIge
(D) Balrampur (D) SeRMgR

1B0. Longest chain of Mountain is : 130. HaE it yefammer & .
(A) Rocky Mountain (A) el vy
(B) Andes Mountain (B) ufrsw geq
(C) Alps Mountain (C) 3e9y e
(D) -Himalaya Mountain (D) fedme™ vefq
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131. Which is the best method of teaching  131. T faqm wgr =i waraw fafyr s i

Sociology ? 7?2

(A) Book reading method (A) T=F va fafu
(B) Deduction method (B) Frmm fafy

(C) Question-answer method (©) v fafy
(D) Field visit method (D) &= yHu fafy

132. In which district of Chhattisgarh the  132. Btwg ¥ fom et # syl st

percent of Schedule Tribes is highest ? =1 wfaeE s €2
(A) Narayanpur (A) AT

(B) Bijapur (B) TR

(C) Dantewada (C) T=arel

(D) Bastar (D) &R

133. Why the teaching of Sociology is done at 133, ¥ Weifish TR W Weiforeh fert sl wgran

higher primary level ? SN ?

(A) To develop the sense towards (A) AFEE 11?1.’( % wfa Hae &1 fawm
human values FH 7Y

(B) For the knowledge of geographical (B) <UH friferss &3 1 SR 2
areas of the country

(C) For the participation of the general (C) TroIfSTeR STl § 3T ST & Wi
public in social work 5!

(D) To pass the examination (D) e 9 T ¥
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134,

135.

Whose rock inscription of the following

Kalturi rulers is obtained in the Kosangai
fort of this state ?

(A)
(B)
(©
(D)

Pratap Mall
Kalyansai
Pritwideo 11

Baharsai

Match the following (sufi saints and
silsilahs)

List - 1 List - 2
(Saints) (Silsilahs)
Shaikh (i)  Firdausi
Bahauddin Zakariya

Khwaja Qutubuddin (i)  Rishi
Bakhtiyar

Syed Ali (iii) Chishti
Hamdani

Shaikh (iv) Suharawardi
Sharfuddin

Yahya

Select the correct answer -
@ () () (q)
A) @ @) @) )
® @ O @) i)
© G @v) @ i)
D) (v) @) @) ()

134.%@%%@%13%%@3-73‘@

135.

(©)

(d)

marmgﬁwaﬂﬁmﬁamﬁ‘m%?

(A) WAoot

(B) ey

(C) gsskea 1

(D) =TT

WW(WW@W)
e - 1 it - 2
(¥a) ( et )

I TSRS S (i) e

Wﬁaﬁ-—[ﬁ@mm) ot

I reft Buer (iii)  Favet
I YRFE A=y (iv) Heweet
e IR g
@ () () (a4
A @ (i (i)  (iv)
B) @ @ (v) (i)
© G Gv) 6@ @)
(D) (iv) (i) (i) (i)
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136.

137.

138.

®)

Who of the following officer was
in-charge of land revenue department in

the Mauryan administrative system ?
(A) Sita-adhyaksha -
Loha-adhyaksha
(C) Samaharta
(D) Sannidhata

Plate Tectonics as theory was first
presented by :

(A)

(B)
(C) FE.B. Taylor

W.]. Morgan

A.N. Strahler

(D) Prof. Alfred Wegener

Which of the following statements 1s not
the impact of the Revolt of 1857 ?

(A) Hindu-Muslim  unity  was

manifested in this Revolt.

(B) The Revolt had brought an end to

the company’s rule.

136.

137.

138.

B yymafae sgaren ¥ frfafea 7 4
£ 1 ST g-Teree famT o AT e
q17?

Hrare
AT
Tl

s

(A)
(B)
©)
(D)

wz faadts #1 g & ®9 § geayed

1857 % faere % yure ¥ dew § Freifate
9 S W FYH A TE © 2

(A) 7y fagie ¥ feg - e itertem
Tl

7 fagie 3 F & YA H HEE
L fean|

(B)

(C) The British Govt. drastically (©) 3w T % wfomHEEy TR T
changed its policy towards Indian F wft fafewn om #t ifa d 9@
States as a result of this Revolt. qfterd 2|

(D) The Revolt had paved the way for (D) 7w fagie A fafrw wmem & fores Tl
such other revolts against the British yer ¥ Tagrel @ o werE fRan
rule.
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139.

The following were the reasons for the
growth of trade in Mughal India :

(@) The Mughals established a vast

empire,

(b) Means of transport  and
communication were improved,

() The Europeans were given free
licences for trade.

(d) The Mughals followed sound

monetary system.
Select the correct answer -
(A) (a), (b) and (c) are correct
(B)
(©) (), (c) and (d) are correct
(D) (a), (b), (c) and (d) are correct

(@), (b) and (d) are correct

139. Wwﬁw%ﬁm%ﬁnﬁrﬁm

HT & .

(@) I ¥ o forerer g 2 oy
ol

(b) I S S % WA 1 e

aﬂﬁaﬁ%w%ﬁq{mm
g ma

T 3 UF A5 TR s w5
3T |

Fﬁ'mﬁ'ﬁ'q:

(c)

(d)

(A) (@) (b) @ (o) Tt ¥

(B) (a), (b) @& (a) wet &)
(©)  (b), (c) T (d) wet ¥
(D) (@), (b), (c) T (d) wet ¥

140. Match the following Sanskrit texts of the 140. gAfeq Fifeg TIRTATT H&Fd T ue
Gupta period and their authors : qEE
List 1 List 2 et - 1 et - 2
(Texts) (Authors) (=) (vra=)
(@)  Ashtadhyayi (i) Varahamihir (a)  3r=TEATY () =mwffe
(b) Mudrarakshasa (ii) Panini (b) Hemem (i) aiforft
(c] Brihatsamhita (iii) Shudraka () Iequfear (i) Y=
(d) Mrichchakatikam (iv) Vishakhdatta (d) TeowHfemy (iv) faemees
Select the correct answer : W& 3T 9o -
@ (b) () (4 @ b (© (@
(A 0 G Gv) @) A @ i) Gv) @
B) @) @) @) (v B i) @) @) (v)
© v @ @) @ © & @ @ @
(D) @) @Gv) G) i) D) @) (v) @) (i)
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141. Which is not related to Damodar Valley — 141. IR =2 GRS & F9 Graf-od T8 &2
Project ?
(A) Tilaiya Dam (A) focten arg
(B) Maithan Dam (B) HIH B
(C) Obra Dam (C) e dry
(D) Panchet Hill Dam (D) U= YRSl Ay
142. Which of the following statements is 142. afes g% Wi e & day § fFrfafea
correct about the religious life of Vedic T H B FHIT A B2
Age ?
(A) The concept of monotheism (A) THEER HI STTHURON Hog o |
prevailed.
(B) The importance of sacrifices (B) TSI &% e 1 famar gam)
increased.
(C) Prayers of mnatural symbols (C) wrhfaen foel =t kst F 9fs 881
increased.
(D) Human life is divided into (D) wa S = sngHl | fawfea faan
Ashramas. 4r
143. Which type of rocks are found in Lafagarh 143, STFITg U8 981 W/ # $F W 9gH 14t
and Podi Uprora ? S & ?
(A) Gneiss (A) =™
(B) Quartzite (B) TSR
(C) Ancient Lava (C) W= e
(D) Dharwar (D) =ETS
SPACE FOR ROUGH WORK / T% &4 & fordt smg
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144,

145,

146.

Who of the following was the Governor
of Bengal at the time of the Battle of Buxar
in 1764 ?

(A) William Drake

(B)  Robert Clive

(C) Vansittart

(D) Verelst

Part of Gondwana land is -
(A) Middle America
(B) West Asia

(©) Madagascar

(D)

Europe

The following are the archealogical
sources of Indian history :

(a)  Stone inscriptions
(b)  Copper plates

(€)  Leaf inscriptions

(d)  Pillar inscriptions
Select the correct answer -
@), (b)

(B) (a), (b), (c)

© (@), @), (@

(D) (@), (b), (c), (@)

(A)

144. 17641361@1%5;;%%3‘1%@@#1

145,

146.

Frafafen & 4 % o2

(A) faferm 3w
(B) T weirdy
(©) a=dterd
(D) e

TiEATTeTS 7 ap
(A) T%7 3mdta
(B) uf¥em ufyry
(C) TermER

(D) Ty

Wmﬂ%%mﬁmsﬁa
g

(a) Fremerm

(b) T

(c) HeTTrerg
(d) wrreng
W&t I g
(A) (a), (b)

(B) (), (b), ()
©) () (b), (@
(D) (a), b), (), (d)
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147. Which of the following is such a source

148,

without which teaching of Social Studies
cannot be completed ?

(A) Textbook

(B) Black-board work

(C) Home-work

(D)

Globe and map

In the ‘Matar festival® of this state which
God is worshipped ?

(A)

Khodhardeo

(B) Dulhadeo

(C) Shri Krishna

(D) Thakurdev

147. = ¥ 9 9 W T gErE § s e

148.

qraIfee I %1 ST g T8 8
bl ?

(A) USI-TE
(B) a9 HA

(C) TeHE

(D) e 3 HEfaS

3O & ‘AR v § R <3 O
STl & 2

(A) WreeRd
(B) geERA
(C) e

(D) oFea
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149. A teacher in her class always encourages
a debate on social issues, why ?

(A) To promote critical thinking

(B)  To save time

(C) For the preparation of competitive
e€xamination

(D) To identify an intelligent student

. Charre-Marre waterfall is located in
which Valley ?

(A) Khursel
Pinjarin

Keshkal

Darbha

~000=

149. wﬁfwwﬁagﬁwmﬂm
AR-foem et & i

(A) W@Wﬁﬁaﬁméﬁ%

[
(B) ¥7a w9 % forg

(©) mﬁwﬁmaﬁﬁmﬁtfm|

(D) aﬁmaﬁﬁw%M|

150, ﬁ~ﬁﬁm¢mfmmﬁf@m%?
O Fi
(B) fisfer
©) v X
(D) =

-00o0-
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1. 39 WeA-qRas o f7e1 s @i
(1)  9uH um - a1 faer wd ey ' 1-30
(2) Todta um - fe=it 31-60
(3) gdF T - SIS 61-90
4) =g W - (37) i den e 91-150

(&) gmifse regga 91-150
() wa (F) H A forelt uan fower o1 =t s B
2. UHE % IW, & T OMR SL-3M2 (Answer Sheet) T 3ifha sifsT)

3.  HUTTET YeAieh el (ehal STa |
4. ol o 7@ & Fago T M Tad d HamEd B $ 990 atE £

5. OMR 3T-¥ilZ (Answer Sheet) 1 A F3d THY U HE raaemt 7 swg {5798 78 2 519 41
saH 1 71 faeme onf Ig S 71 9 w6 9 |

Note :
1. This Question Booklet contains Parts namely :

(1)  First Part - Child Development and Pedagogy 1-30
(2) Second Part - Hindi 31-60
(3) Third Part - English 61-90
(4) Fourth Part - (A) Mathematic and Science 91-150

(B) Social Science 91-150

Choose any one Subject from (A) and (B)
2 Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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